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Andersen Example

a = &b; —_
c = a; —
a = &d; —
e = a; —
pt(a) = {}
pt(b) = {}
pt(e) = {}

pt(a) 2 {b}
pt(c) 2 pt(a)
pt(a) 2 {d}
pt(e) 2 pt(a)

pt(c) = {}
pt(d) = {}
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pt(2) = {b}
pt(b) = {}

pt(e) = {}
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pt(a) 2 {b}
pt(c) 2 pt(a)
pt(a) 2 {d}
pt(e) 2 pt(a)

pt(c) = {}
pt(d) = {}
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pt(e) = {}
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pt(a) 2 {b}
pt(c) 2 pt(a)
pt(a) 2 {d}
pt(e) 2 pt(a)

pt(c) = {b}
pt(d) = {}
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Andersen Example

a = &b; —» pt(a) 2 {b}

c = a; —  pt(c) 2 pt(a)

a=sdi — ptfa)2{d

€ = a; —>  pt(e) 2 pt(a)

pt(a) = {b,d} pt(c) = {b}

pt(b) = {} pt(d) = {}
pt(e) = {}

a = &b; —» pt(a) 2 {b}
c = a; —  pt(c) 2 pt(a)
a = &d; — pt(a) 2 {d}
e = a; —>  pt(e) 2 pt(a)
pt(a) = {b,d} pt(c) = {b}
pt(b) = {} pr(d) = {}

pt(e) = {b.d)




Andersen Example

End of first iteration

pt(a) = {b,d} pt(c) = {b}
pt(b) = {} pt(d) = {}
pt(e) = {b,d}

Andersen Example

a = &b; —» pt(a) 2 {b}

c = a; —  pt(c) 2 pt(a)

a = &d; — pt(a) 2 {d}

e =ai  — pte)2pio

pt(a) = {b,d} pt(c) = {b}

pe(b) = {} pt(d) = {}
pe(e) = {b,c}

Andersen Example

a = &b; —» pt(a) 2 {b}
c = a; —  pt(c) 2 pt(a)
a =&y —>  pt(a) 2 {d}
e = aj; —  pt(e) 2 pt(a)
pt(2) = {b,d} pt(c) = {b,d}
pt(b) = {} pt(d) = {}
pt(e) = {b,d}

Andersen Example

a = &b; —» pt(a) 2 {b}

c = a; —  pt(c) 2 pt(a)

a = &d; —> pt(a) 2 {d}

€ = ai > ptfe) 2 pt(q)

pt(a) = {b,d} pt(c) = {b,d}

pt(b) = {} pt(d) = {}
pt(e) = {b,d}

Andersen Example

a = &b; —» pt(a) 2 {b}

c = a; —  pt(c) 2 pt(a)

a = &d; — pt(a) 2 {d}

e = aj —>  pt(e) 2 pt(a)

pt(a) = {b,d} pt(c) = {b,d}

pt(b) = {} pt(d) = {}
pt(e) = {b,d}

Andersen Example

End of second iteration
(finished)

pt(2) = {b,d}
pt(b) = {}

pt(c) = {b,d}
pt(d) = {}
pt(e) = {b,d}

Andersen Example (2)

a = &b; - Pt(a) 2 {b}

c = sd; —» btc)2{d}

e = &a; — pt(e) 2 {a}

f = a; — Pt(f) 2 pt(a)

*e = cC — pt(e) 2 {z} = pt(z) 2 pt(c)
pt(a) = {} pt(d) = {}
pt(b) = {} pt(e) = {}
pt(c) = {} pt(f) = {}

Andersen Example (2)

= &b; b Pt(CI) 2 {b}

c = &d; — Pt(C) 2 {d}

e = sa; —» bt(e)2{a}

f = a; —  Pt(f) 2 pt(a)

*e = c; —p ptle) 2 {z} = pt(z) 2 pt(c)
pt(a) = {b} pt(d) = {}
pt(b) = {} pt(e) = {}

pt(c) = {} pt(f) = {}




Andersen Example (2)

a = &b; —» pt(a) 2 {b}

c = gd; —» bt(c)2{d}

e = &a; — pt(e) 2 {a}

f = a; —  Pt(f) 2 pt(a)

*e = c; 5 ptle) 2 {z} = pt(z) 2 pt(c)
pt(a) = {b} pt(d) = {}
pt(b) = {} pt(e) = {}
pt(c) = {d} pt(f) = {}

Andersen Example (2)

a = &b; b pt(a) 2 {b}

c = &d; — Pt(C) 2 {d}

e = &a; —» pt(e) 2 {a}

f = a; — DPt(f) 2 pt(a)

*e = c; —p ptle) 2 {z} = pt(z) 2 pt(c)
pt(a) = {b} pt(d) = {}
pt(b) = {} pt(e) = {a}
pt(c) = {d} pt(f) = {}

Andersen Example (2)

a = gp; —> bt(a)2{b}

c = sd; —> bt(92{d}

e = sa; —» Dte)2{a}

£ = a; — Pt(f) 2 pt(a)

*e = c; 5 ptle) 2 {z} = pt(z) 2 pt(c)
pt(a) = {b} pt(d) = {}
pt(b) = {} pt(e) = {a}
pt(c) = {d} pt(f) = {b}

Andersen Example (2)

sb; —> Pt(@)2 {b}

&d; b Pt(C) 2 {d}

&a; —» pt(e) 2 {a}

a; — Pt(f) 2 pt(a)

e =ci _y ptle)2{z = ptiz) 2 pr(o
pt(a) 2 pt(c)
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pt(a) = {b,d} pt(d) = {}
pt(b) = {} pt(e) = {a}
pt(c) = {d} pt(f) = {b}

Andersen Example (2)

End of first iteration

pt(a) = {b,d} pt(d) = {}
pt(b) = {} pt(e) = {a}
pt(c) = {d} pt(f) = {b}

Andersen Example (2)

sb; —> Pt 2 {b}

&d; —_— Pt(C) 2 {d}

sa; —» Pt(e) 2 {a}

a; —  Pt(f) 2 pt(a)

e = c; — ptle)2{z} = pt(z) 2 pt(c)
pt(a) 2 pt(c)
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pt(a) = {b,d} pt(d) = {}
pt(b) = {} pt(e) = {a}
pt(c) = {d} pt(f) = {b}

Andersen Example (2)

&b; B Pt(a) 2 {b}

&d; b Pt(C) 2 {d}

sa; —» bt(e) 2{a}

a; —  Pt(f) 2 pt(a)

e = c; — ptle)2{z} = pt(z) 2 pt(c)
pt(a) 2 pt(c)

H O Q Q@

pt(2) = {b,d} pt(d) = {}
pt(b) = {} pt(e) = {a}
pt(c) = {d} pt(f) = {b}

Andersen Example (2)

&b; —> pt(a) 2 {b}

&d; —_ Pt(C) 2 {d}

sa; —» ptle) 2 {a}

a; —  Pt(f) 2 pt(a)

e = c; — ptle)2{z} = pt(z) 2 pt(c)
pt(a) 2 pt(c)
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pt(a) = {b,d} pt(d) = {}
pt(b) = {} pt(e) = {a}
pt(c) = {d} pt(f) = {b}




Andersen Example (2)

&b; o Pt(a) 2 {b}

&d; b Pt(C) 2 {d}

sa; —» bt(e) 2{a}

a; —  Pt(f) 2 pt(a)

e = c; 5 ptle)2{z} = pt(z) 2 pt(c)
pt(a) 2 pt(c)
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pt(2) = {b,d} pt(d) = {}
pt(b) = {} pt(e) = {a}
pt(c) = {d} pt(f) = {b,d}

Andersen Example (2)

&b; — pt(a) 2 {b}

&d; —_ Pt(C) 2 {d}

sa; —» pte) 2 {a}

a; — Pi(f) 2 pt(a)

e = c; 5 ptle)2{z} = pt(z) 2 pt(c)
pt(a) 2 pt(c)

*H O Q Q@

pt(2) = {b,d} pt(d) = {}
pt(b) = {} pt(e) = {a}
pt(c) = {d} pt(f) = {b,d}

Andersen Example (2)

End of second iteration

(finished)
pt(2) = {b,d} pt(d) = {}
pt(b) = {} pt(e) = {a}
pt(c) = {d} pt(f) = {b,d}




